ECONOMICS - Study of how people respond to constraints in ways to better themselves

FUNDAMENTAL CONSTRAINT - SCARCITY

Postulate 1 - SCARCITY - for all of us, there are things we want more of.  We call such things GOODS.

Scarcity implies choice.

Ex-president Clinton recently commented that America needs decent health care for all its citizens.  Do you agree?

On the first day of my art history class in 1968, the professor informed us that he believed that 

      “Grades cause competition.  Competition inhibits learning.  Therefore in order for us to learn as much as possible, we would all receive an A.”

Do you think “grades cause competition?”

How would you predict the students reacted to the changed constraints in their art history class?
Scarcity implies choice.

Choice implies cost.

The ECONOMIC COST of an action (decision, choice) is the HIGHEST VALUED FOREGONE ALTERNATIVE.

Postulate 2 - SUBSTITUTION - 
For all of us, we will give up some of one good to get more of another.

INDIFFERENCE - set of alternatives that you will let another choose between for you.

Measurement of willingness to substitute

MARGINAL VALUE - The maximum amount of one good that will be given up to get another unit of a second good.

JODY INDIFFERENT COMBINATIONS



   GOODS

                 
          QUANTITIES
    MARGINAL 

COMBINATION     MEAT   FRUIT      VALUE (another meat)

   A

1         13  








  


   B

2         10


   C

3          ?
CHRIS




   GOODS



         QUANTITIES
     MARGINAL 

COMBINATION     MEAT   FRUIT      VALUE (another meat)

   A

1         16 


   B

2
10


   C

3          ?
WHO LIKES MEAT MORE?
POSTULATE 3   SATIATION

THE MORE YOU HAVE OF A GOOD, THE LESS OF ANOTHER YOU WILL GIVE UP TO GET AN ADDITIONAL UNIT OF THE FIRST

DIMINISHING MARGINAL VALUE

IMPLICATION - IF PEOPLE HAVE DIFFERENT MARGINAL VALUES, TRADE IS EFFICIENT

ECONOMIC EFFICIENCY - AN ACTION OR 

CHANGE IS ECONOMICALLY EFFICIENT IF SOMEONE IS BETTER OFF AND NO ONE IS WORSE OFF

LECTURE 2

ASSUME JODY AND CHRIS EACH BEGIN WITH COMBINATION  B  WITH 2 UNITS OF MEAT AND 1O UNITS OF FRUIT.

JODY’S WILLINGNESS TO SUBSTITUTE, HIS MARGINAL VALUE OF THE SECOND UNIT OF MEAT WILL GIVE UP THE SECOND UNIT IF HE IS GIVEN 3 OR MORE UNITS OF FRUIT.

CHRIS’S WILLINGNESS TO SUBSTITUTE  -  WILL GIVE UP AS MUCH AS 5 UNITS OF FRUIT TO GET ANOTHER UNIT OF MEAT.

EFFICIENT TRADE CAN OCCUR AT A TRADING RATE BETWEEN THEIR MARGINAL VALUES.  FOR EXAMPLE - TRADE 4 UNITS OF FRUIT FOR 1 UNIT OF MEAT

RESULTS

JODY TRADES FOR FRUIT AND ENDS UP WITH 1 MEAT 14 FRUIT - IS BETTER OFF BY ONE UNIT OF FRUIT.

CHRIS TRADES FOR MEAT AND ENDS UP WITH 3 MEAT 6 FRUIT - BETTER OFF BY ONE UNIT OF FRUIT.

WITH DIFFERENT MARGINAL VALUES - SOCIETY CAN EXPLOIT GAINS FROM TRADE 

CALLED TRADING SURPLUS

TRADING CAN ITSELF BE COSTLY LIMITING THE OPPORTUNITY TO EXPLOIT THE TRADING SURPLUS

COSTS OF TRADING INCLUDE

1.  FINDING A PERSON WITH A DIFFERENT MARGINAL VALUE.

2.  DETERMINING THE VALUE OF ANOTHER’S GOODS.

3.  NEGOTIATING THE TRADING RATE.

PROPOSITION - REDUCING THE COSTS OF TRADING IS EFFICIENT.

- INDIVIDUALS ATTEMPTING TO MAKE THEMSELVES BETTER OFF IN THE FACE OF SCARCITY WILL SEEK WAYS TO REDUCE THE COSTS OF TRADING.

INSTITUTIONS REDUCING THE COSTS OF TRADING

1.  GOVERNMENT DEFINING AND ENFORCING THE RIGHTS TO GOODS.

2.  MIDDLEMEN ENGAGING IN ONGOING TRADING OF THE SPECIALTY GOODS.

3.  USE OF A COMMON INTERMEDIARY IN TRADES.

GOODS CONSISTS OF MANY POSSIBLE RIGHTS TO USE, ABUSE, TRANSFORM, TRADE, ....

THE RIGHTS YOU “OWN” ARE THE USES YOUR DECISIONS CONTROL.

GOVERNMENT - THE DOMINANT FORCE - DEFINES, ASSIGNS, AND ENFORCES THE RIGHTS TO GOODS.

MIDDLEMEN ENGAGE IN REPEATED TRADES IN THEIR SPECIALTY GOODS.  THIS LOWERS THE COST OF TRADING:

1.  ALLOWS LOW COSTS IDENTIFICATION OF A TRADING PARTNER.

2.  VALUE OF FUTURE BUSINESS TO MIDDLEMEN HELPS MOTIVATE HONESTY.

3.  MIDDLEMEN DEVELOP EXPERTISE IN VALUING THEIR SPECIALTY GOODS.

DESIRED CHARACTERISTICS OF A COMMON INTERMEDIARY GOOD

1.  EASILY RECOGNIZED

2.  EASILY DIVIDED

3.  DURABLE

4.  EASILY TRANSPORTED

5.  STABLE IN VALUE

6.  CHEAP TO PRODUCE

GOLD

CURRENCY

TYPICAL EXCHANGE SITUATION -

INDIVIDUAL TRADES WITHIN A SYSTEM OF LAWS THAT PROTECTS RIGHTS.

INDIVIDUAL PURCHASES AT A “STORE” (MIDDLEMAN).

INDIVIDUAL PAYS FOR GOODS WITH MONEY.
JODY’S INDIFFERENCE SCHEDULE

“OTHER GOODS”
&     POP

  $

     POP
MARGINAL VALUE

110

       0






100

       1

          10

91.25

       2


8.75

83.50

       3


7.75

76.75

       4


6.75

71.25

       5


5.50


67

       6


4.25

64

       7


3

62

       8


2

61

       9


1

PRICE = $6

SCHEDULE 2 - AFTER JODY HAS DECIDED TO BUY 4

86

     4

79.50

     5


6.50

74

     6


5.50

SCHEDULE 3 - AFTER JODY HAS DECIDED TO BUY 5

80

     5

74.25

     6


5.75

JODY’S DEMAND SCHEDULE

PRICE OF POP

QUANTITY DEMANDED

   $10





1

      9





2

      8





3

      7





4

      6





5

      5





6

      4





7

      3





8

      2





9

      1




          10

FUNDAMENTAL PRINCIPLE OF ECONOMICS

LOWER THE COST OF AN ACTION - MORE LIKELY THE ACTION WILL BE TAKEN





LAW OF DEMAND 

LOWER THE PRICE - INCREASE THE QUANTITY DEMANDED

THE DEMAND SCHEDULE AND THE DEMAND CURVE CONTAIN INFORMATION ON

1.  DESIRED AMOUNT AT EACH PRICE

2.  EXPENDITURE AT EACH PRICE

3.  TOTAL CONSUMER VALUE AT EACH PRICE

4.  CONSUMER SURPLUS AT EACH PRICE

        PRICE                   QUANTITY               TOTAL                   TOTAL                     TOTAL

       OF POP                 DEMANDED              PAID                      VALUE                  SURPLUS

         $10

      
   1

         $10
                   $10
                    $0 

     
9

     
   2

     
18
          

19
       

1

      
8                   

   3

     
24
          

27               

3


7


   4


28


34


6


6


   5


30


40


10


5


   6


30


45


15


4


   7


28


49


21


3


   8


24


52


28


2


   9


18


54


36


1


 10


10


55


45






                     (PxQ)                 SUM MVs           VALUE-PD

LECTURE 3

ILLUSTRATIONS OF THE LAW OF DEMAND

1.  CHRIS WENT TO THE PUYALLUP FAIR TO RIDE THE ROLLER COASTER.

ADMISSION WAS $5, RIDES $.50 EACH

     CHRIS CHOSE TO GO ON 10 ROLLER COASTER RIDES.

A.  IF ADMISSION HAD BEEN FREE BUT EACH RIDE COST $1, WOULD YOU PREDICT CHRIS WOULD HAVE CHOSEN THE SAME NUMBER, MORE OR LESS RIDES?

B.  WHICH OF THE TWO PRICING SCHEMES DO YOU THINK CHRIS WOULD PREFER?


1.  $5 ADMISSION, 50 CENT RIDES.


2.  FREE ADMISSION, $1 RIDES.


2.  AS A YOUNG VISITOR TO SPAIN, I BOUGHT MANY PAIR OF INEXPENSIVE SANDALS THAT I BROUGHT BACK HOME.  AS THE SANDALS WORE OUT, I LOOKED TO REPLACE THEM AT THE LOCAL SHOE STORES.  TO MY DISMAY, NONE OF THE LOWER PRICED SPANISH SANDALS WERE AVAILABLE.  ONLY THE RELATIVELY MORE EXPENSIVE PAIRS WERE IMPORTED TO THE USA.

EXPLAIN HOW A TARIFF PER PAIR OF SANDALS AND THE LAW OF DEMAND MIGHT LIE BEHIND THE ABSENCE OF THE CHEAP SANDALS AT MY FAVORITE SHOE STORES.

3.  The President of the University of Washington has been lobbying for significant raises for the faculty in the upcoming state budget.  As part of his efforts, he has pointed out that the faculty raises for the last five years have not even kept up with the rate of inflation and therefore that the faculty on average is worse off financially than they were in 1996.

IF THE FACULTY PAY RAISE JUST EQUALLED THE RATE OF INFLATION ARE THE FACULTY “EVEN?”

4.  THE SMITHS ARE DAIRY FARMERS.  THEY HAVE BEEN RECEIVING $1 PER GALLON FROM DARIGOLD FOR THEIR MILK.

THE SMITHS HAVE BEEN CONSUMING 10 GALLONS OF MILK PER WEEK.

AS A RESULT OF “NAFTA” (THE NORTH AMERICAN FREE TRADE AGREEMENT) AND THE INCREASED TRADING OPPORTUNITIES, DARIGOLD IS NOW PAYING THE SMITHS $2 PER GALLON OF MILK.

DOES THE LAW OF DEMAND PREDICT THE SMITHS WILL REDUCE THEIR QUANTITY DEMANDED (CONSUMED) OF MILK?


CALCULATION OF RATE OF INFLATION

1.  SURVEY TYPICAL CONSUMER’S PURCHASES IN BASE YEAR (E.G. 2002)




GASOLINE
FOOD
HOUSING

PRICE


$1

  $1


$1

QUANTITY

50

  50


200

COST


$50

 $50


$200

TOTAL EXPENDITURE FOR 2002 GOODS AT 2002 PRICES =







$300

2.  SURVEY PRICES IN SUBSEQUENT YEARS (E.G. 2003)




GASOLINE
FOOD
HOUSING

PRICE (2001)
     $1.20
         $.80

$1.10

COST OF 2000

QUANTITY

$60

  $40

$220

TOTAL EXPENDITURE FOR BASE GOODS AT 2003 PRICES =







$320

INFLATION RATE = PERCENTAGE INCREASE IN COST 




OF BASE GOODS 





     = 6.67%  = (20/300) 


LECTURE 4

FACTORS OTHER THAN PRICE CAN ALSO AFFECT THE DESIRED QUANTITY.  THESE FACTORS ARE HELD CONSTANT IN DESCRIBING THE DEMAND.

WE NAME “THESE OTHER FACTORS” THE PARAMETERS OF DEMAND.

A CHANGE IN A “PARAMETER” CHANGES DEMAND

GRAPHICALLY

A CHANGE IN THE PRICE RESULTS IN A MOVEMENT ALONG THE DEMAND CURVE.

A CHANGE IN A PARAMETER OF DEMAND RESULTS IN A SHIFT OF THE DEMAND CURVE.

PARAMETERS OF DEMAND

1.  INCOME

A.  NORMAL GOODS - AN INCREASE IN INCOME INCREASES DEMAND.

B.  INFERIOR GOODS - AN INCREASE IN INCOME LOWERS DEMAND.

2.  PRICE OF OTHER GOODS

A.  SUBSTITUTES (GOODS USED INSTEAD OF) - AN INCREASE IN THE PRICE OF A SUBSTITUTE LEADS TO AN INCREASE IN DEMAND.

B.  COMPLEMENTS (GOODS USED WITH) - AN INCREASE IN THE PRICE OF A COMPLEMENT LEADS TO A DECREASE IN DEMAND.

3.  INFORMATION ABOUT THE USE OF A GOOD.

4.  THE RIGHTS ASSOCIATED WITH “OWNING” A GOOD.

5.  EXPECTATIONS ABOUT THE FUTURE PRICE OF A GOOD.

6.  “NON-PRICE” CHANGES IN THE COST OF A GOOD.

7.  FOR THE COMMUNITY DEMAND - THE NUMBER OF INDIVIDUALS COMPOSING THE COMMUNITY.

DEMAND - RELATIONSHIP BETWEEN PRICE AND 

QUANTITY DEMANDED

INCREASE IN PRICE -> REDUCTION IN QUANTITY DEMANDED

A CHANGE IN PRICE - CAUSES A MOVEMENT ON THE DEMAND SCHEDULE OR CURVE

A CHANGE IN A PARAMETER - CHANGES THE DEMAND SCHEDULE OR CURVE (I.E., SETS THE POSITION)

THE DEMAND CURVE IS DEFINED BY BOTH ITS POSITION AND ITS SLOPE 

THE SLOPE MEASURES THE RESPONSIVENESS OF THE QUANTITY DEMANDED TO A CHANGE IN PRICE.

WE NEED TO UNDERSTAND THIS REPSONSIVENESS AND WHAT DETERMINES IT
CONSIDER THE DEMAND FOR INSULIN VERSUS THE DEMAND FOR PEPSI COLA
DEMAND 1.
 


 


DEMAND 2. 







DEMAND 1.  PRICE
3

2

1



QUANTITY
1

3

5

DEMAND 2.  PRICE
1/2

1/3

1/6



QUANTITY
 6

18

30
TO BE SURE THAT OUR MEASURE OF RESPONSIVENESS IS NOT IMPACTED BY THE UNITS  - WE MEASURE IN PERCENTAGE TERMS

THE RESPONSIVENESS OF DEMAND TO A PRICE CHANGE IS MEASURE BY ELASTICITY

= % CHANGE IN QUANTITY 

   % CHANGE IN PRICE

ALWAYS NEGATIVE (LAW OF DEMAND)

ILLUSTRATION

ELASTICITY OF DEMAND 1 (PRICE FROM 3 TO 2)

   (CHANGE Q=2/AVERAGE Q = 2)     = % CHANGE +100%

     =    -----------------------------------------------------------------------------


   (CHANGE P=-1/AVERAGE P = 2.5) = % CHANGE   -40%

     = -2.5

ELASTICITY OF DEMAND 2 (PRICE FROM 1/2 TO 1/3)

   (CHANGE Q=12 /AVERAGE Q = 12)     = % CHANGE +100%

     =    -----------------------------------------------------------------------------


   (CHANGE P=-1/6 /AVERAGE P = 5/12) = % CHANGE   -40%

     = -2.5

THE NORTHWESTERN UNIVERSITY TRANSPORT CENTER WAS QUOTED IN THE WALL STREET JOURNAL AS ADVISING MUNCIPAL BUS COMPANIES AGAINST RAISING FARES -

“HIGHER FARES NEVER MAKE UP FOR THE LOSS OF REVENUE.  WHEN FARES GO UP, RIDERSHIP GOES DOWN AND THE BUSES BRING IN LESS DOLLARS. IT’S A LAW OF ECONOMICS!”
DO YOU AGREE THAT THESE DISTINGUISHED SCHOLARS HAVE CORRECTLY DESCRIBED A LAW OF ECONOMICS?

ELASTICITY AND EXPENTITURE  EXPENDITURE (OR SELLERS’ REVENUE) = P X Q

CONSIDER AN INCREASE IN PRICE

IF THE RESULTING % DECREASE IN QUANTITY  EXCEEDS % PRICE INCREASE THEN REVENUE??

IF THE % CHANGE IN Q > THE % CHANGE IN P THEN THE |VALUE OF THE ELASTICITY| WILL BE??

WHEN E>1 WE CALL THE DEMAND “ELASTIC”

IF PRICE INCREASES -> % FALL Q > % INCREASE IN P
EXPENDITURE therefore FALLS 


IF PRICE DECREASES -> % INCREASE Q > % DECREASE IN Q 

EXPENDITURE therefore RISES

SOME GOODS HAVE RELATIVELY ELASTIC DEMANDS


PEPSI COLA; DIAMONDS; FAST FOOD

BUT THERE IS NO REASON WHY THE % CHANGE IN QUANTITY MUST BE GREATER THAN THE % CHANGE IN PRICE CHANGE  


CONSIDER THE DEMAND FOR 

GASOLINE; INSULIN;  STEEL

WHEN DEMAND IS SUCH THAT THE % CHANGE IN QUANTITY IS LESS THAN THE % CHANGE IN PRICE WE CALL THE DEMAND “INELASTIC”

WHEN DEMAND IS INELASTIC THE |VALUE OF THE ELASTICITY| IS LESS THAN 1.

WHEN DEMAND IS INELASTIC 


IF PRICE INCREASES ->  EXPENDITURE RISES


IF PRICE DECREASES ->  EXPENDITURE FALLS

THE STATE ATTORNEY GENERAL HAS INVESTIGATED A NUMBER OF INDUSTRIES IN RECENT YEARS FOR “ILLEGAL PRICE FIXING”.  THESE INDUSTRIES INCLUDED ASPHALT PAVERS, MILK SELLERS, FINE PAPER PRODUCERS, AND ELECTRICAL CONTRACTORS.  IN ALL CASES THEY FOUND EVIDENCE OF PRICE FIXING BUT ONLY ON SALES TO GOVERNMENT ENTITIES.

WHY WOULD YOU EXPECT PRICE FIXING TO BE MORE LIKELY ON SALES TO THE GOVERNMENT?

LECTURE 5

FACTORS AFFECTING ELASTICITY

1.  AVAILABILITY OF SUBSTITUTES

2.  Position of Demand

3.  Response period

EQUILIBRIUM PRICE   - price for which there are no economic forces causing price to change

IF PRICE SUCH THAT QUANTITY DEMANDED EXCEEDS QUANTITY SUPPLIED WE HAVE A SHORTAGE - BUYER COMPETITION WILL CAUSE PRICE TO RISE

IF PRICE SUCH THAT QUANTITY DEMANDED EXCEEDS QUANTITY SUPPLIED WE HAVE A SURPLUS – SELLER COMPETITION WILL CAUSE PRICE TO FALL

AN EDITORIAL RECENTLY CLAIMED THAT THE CUTS IN THE FEDERAL TIMBER HARVESTS DID NO ECONOMIC HARM BECAUSE THE TOTAL VALUE OF THE TIMBER HARVESTED IN FACT WENT UP.

IN A SUBSEQUENT LETTER TO THE EDITOR, AN ENVIRONMENTALIST CONCURRED BUT USED THIS FACT TO POINT OUT THE ABSURDITY OF OUR ECONOMIC SYSTEM IN WHICH “LESS IS WORTH MORE THAN MORE.”

EXPLAIN HOW BOTH THE EDITOR AND THE ENVIRONMENTALIST ARE CONFUSED ABOUT BASIC ECONOMIC PROPOSITIONS.
THE EQUILIBRIUM PRICE RESULTS FROM THE INTERACTION OF SUPPLIERS AND DEMANDERS.  IF, AT A GIVEN PRICE, THE QUANTITY SUPPLIED EXCEEDS THE QUANTITY DEMANDED, A SURPLUS EXISTS 

SUPPLIERS THEN HAVE AN INCENTIVE TO COMPETE TO BE THE FAVORED TRADERS.   BY OFFERING $ THROUGH A LOWER PRICE, THE DEMANDERS CAN BUY THEIR MOST FAVORED GOODS.

PRICE THEREFORE FALLS
IF, AT A GIVEN PRICE, THE QUANTITY DEMANDED EXCEEDS THE QUANTITY SUPPLIED, A SHORTAGE EXISTS   

DEMANDERS THEN HAVE AN INCENTIVE TO COMPETE TO BE THE FAVORED TRADERS.   BY OFFERING $ THROUGH A HIGHER PRICE, THE SUPPLIERS CAN BUY THEIR MOST FAVORED GOODS.

PRICE THEREFORE RISES
AN EQUILIBRIUM PRICE (ONE THAT WILL NOT CHANGE) EXISTS ONLY IF THE QUANTITY DEMANDED EQUALS THE QUANTITY SUPPLIED
CORD WOOD MARKET IN BOTHELL
SUPPLY - WOODCUTTERS FROM DUVALL SUPPLY 7 CORDS EACH SATURDAY MORNING

DEMAND-

PRICE/CORD                QUANTITY DEMANDED




      JONES
              SMITHS
            MARKET


$100



0


1


1

   90



1


1


2

   80



1


2


3

   70



2


2


4

   60



2


3


5

   50



3


3


6

   40



3


4


7

   30



4


4


8

   20



4


5


9

   10



5


5

           10
WHAT WOULD YOU EXPECT TO HAPPEN IN THE CORD WOOD MARKET IF ON SATURDAY MORNING AT 8 AM THE PRICE OF OIL DOUBLED?

INCREASE IN THE PRICE OF A SUBSTITUTE WILL-> INCREASE DEMAND.
DEMAND WITH OIL PRICE DOUBLED-

PRICE/CORD                  QUANTITY DEMANDED




      JONES
              SMITHS
            MARKET

 $160






1


1


  150






2


2

  140






3


3

  130






4


4

  120






5


5

  110






6


6

  100



0


7


7

   90



1


7


8

   80  



1


8


9

   70



2


8


10

   60



2


9


11

   50



3


9


12

   40



3


10


13

   30



4


10


14

   20



4


11


15

   10



5


11
      

16

A LARGE UNEXPECTED INCREASE IN A PRICE ($40 PER CORD TO $100 PER CORD) CAUSES:

SUBSTANTIAL REDISTRIBUTION OF SOCIETY’S “WEALTH” (FROM THE JONES - LOSS IN CONSUMER SURPLUS; FROM SMITH’S $ AND SURPLUS)

THE REDISTRIBUTIONS ARE UNRELATED TO FAMILY’S EFFORTS OR TALENTS

FREQUENT RESPONSE - CALL ON GOVERNMENT (SPECIALIST IN COERCION) TO CORRECT THE WRONG  --  DON’T ALLOW THE PRICE INCREASE

          CALLED A “PRICE CONTROL”

A PRICE CONTROL CREATES A SHORTAGE.  A SHORTAGE PROVIDES INCENTIVES FOR BUYER COMPETITION TO BE THE PREFERRED BUYER

A PRICE CONTROL ELIMINATES ONE DIMENSION IN WHICH TO COMPETE  BUT

NOT THE INCENTIVE TO COMPETE

OTHER EXPECTED DIMENSIONS OF COMPETITION (WAYS TO GET THE SELLER TO FAVOR YOU):

1.  REDUCE THE SELLER’S COST.

2.  PROVIDE THE SELLER WITH A BENEFIT “UNRELATED” TO THE PRICE CONTROLLED GOOD.

3.  APPEAL TO THE SELLER THROUGH YOUR PERSONAL CHARACTERISTICS.

IF ALL MEANS OF APPEALING TO THE SELLER ARE FORECLOSED ->

GOODS WILL BE ALLOCATED BY WILLINGNESS TO WAIT!
ISSUE-- IF THE CORD WOOD IS ALLOCATED BY WILLINGNESS TO WAIT, WILL THE JONES (THE POOR FAMILY) BENEFIT?

THE ANSWER DEPENDS ON THE VALUE OF BEING FIRST IN LINE AS COMPARED TO THE COST OF WAITING IN LINE.

(WORK THROUGH THE CASE IN WHICH THE JONES’ VALUE OF TIME IS $5 PER HOUR AND THE SMITH’S $30 PER HOUR - IN THIS CASE THE SMITH’S WILL GET THE WOOD.  SEE BELOW.)

PROPOSITION -

THERE MUST BE SOME ALTERNATIVE POLICY THAT IS EFFICIENT IF SOCIETY IS ALLOCATING THE GOODS BY WAITING

(SEE BELOW.  THE LOGIC IS SIMPLY THAT WITH A PRICE CONTROL SOCIETY IS WASTING RESOURCES SINCE SOMEONE WAITS IN LINE AND THE ALLOCATION OF THE GOODS IS LIKELY NOT THE EFFICIENT ALLOCATION.  AN EFFICIENT POLICY MAY INCLUDE COMPENSATION TO SOMEONE WHO BENEFITS FROM A PRICE CONTROL.)
DETERMINING WHO BENEFITS FROM ALLOCATING GOODS THROUGH COMPETING BY WAITING

STEP 1 - DETERMINE THE VALUE TO CONSUMERS OF WAITING


JONES FAMILY  - IF FIRST, WILL PURCHASE 3 CORDS

VALUE OF 3 CORDS ($90+$70+$50) =     $210

$ COST OF WOOD
($40x3)
         =     120

JONES SURPLUS IF FIRST                 =     $90


SMITH FAMILY  - IF FIRST, WILL PURCHASE 7 CORDS

VALUE OF 7 CORDS                         =      $910

$ COST OF WOOD
($40x7)
      =
      280

SMITH SURPLUS IF FIRST                =      $630

STEP 2 - DETERMINE THE COST TO CONSUMERS OF WAITING.  (NEED TO KNOW THE OPPORTUNITY COST OF TIME SPENT IN LINE)

JONES FAMILY  - ASSUME TIME VALUE = $5/HOUR.  

  WILL WAIT (SURPLUS/TIME VALUE)  ($90/$5)   =    18 HOURS


SMITH FAMILY  - ASSUME TIME VALUE = $20/HOUR

             WILL WAIT (SURPLUS/TIME VALUE)($630/$30) =     21 HOURS

EXPECTED EQUILIBRIUM WAIT TIME 18+ HOURS - SMITHS GET THE GOODS
DO THE SMITHS BENEFIT?

COMPETING BY WILLINGNESS TO WAIT


SURPLUS 


=     $630

           TIME COST


=     $540  ($30x18+)


NET BENEFIT

=     $ 90

COMPETING BY WILLINGNESS TO PAY

VALUE


=      $910

$ COST


=      $700

NET BENEFIT

=      $210

NO!

BUT THIS IS JUST AN EXAMPLE

WHAT IF THE VALUE OF TIME - SMITHS = $100/HR


NOW JONES WAIT ~ 6.3 HOURS AND JONES GET 4 

GET NET SURPLUS ~ ($90-6.3x$5) = $58.50

PROPOSITION -

THERE MUST BE SOME ALTERNATIVE POLICY THAT IS EFFICIENT IF SOCIETY IS ALLOCATING THE GOODS BY WAITING

GAINS FROM TRADE WITH PRICE CONTROL 

(SMITHS TIME VALUE = $30)

NET SURPLUSES


JONES    = $0


SMITHS   = $90


CUTTERS= $280 (=7x$40)


TOTAL     =$370

AN EFFICIENT ALTERNATIVE-

ALLOCATE BY PRICES, TAX WOODCUTTERS $50/CORD, GIVE TAX REVENUE TO THE JONES

NET SURPLUSES


JONES    = $350 ($50x7)


SMITHS   = $210


CUTTERS= $350 ($100x7 - $50x7)


TOTAL   = $910

(NOTE THAT THE TOTAL SURPLUSES EQUAL HE VALUE OF THE WOOD AND THE GAIN OF $540 {=$910-370} IS EXACTLY THE WASTE FROM WAITING) 
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